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@ Consider a square of side 4 cm. Now if a man runs at a distance of
1 cm from the sides of the square. How much distance will he
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@ Let fk(x)=;(sm}/X+COSk X) where xe R and f>1.
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Then f,(x)— f5(x) equals 4 €
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3(sinO — cos0)* + 6(sinb + cosO)? + 4sin°6 equals:
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If(15sin* @ + 10 cos* a = 6) for some a € R,

then the value 0f@sec6 a+ 8 Cosecﬁa is
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N sin*x costx 1 @
If + = —|, then |
2 3 5
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Find tan” tan T tan T, tan” tan T tan T,
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@ Find sin 420° cos 390° + cos(-300°) sin(-330°)
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Let 96[0, %J and 7, = (tan@)tan® t, = (tan@)coto,

t, = (cot0) and ¢, = (cot0)°*, then
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Let o,f3 be such that t<a—p <3m.

It sino¢+sin[3=—2 and cosoc+cos[3=—£ then the
65 65
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value of 03;5( 2 ) C [JEE M 2004]
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@ If CDt o= 1 and (S m where m< o < 7

rr
and E{B{TE then the value of tan(o+f) and
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Ifaq,a,, .., a, are in A.P. with common differenc then the sum of series
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2sina {1 cosZB where.d. Be ,0
*005201 J10

Then tan (« + 2B) is equal to \ @ [JEE M 2020]
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I The value of
c0s%10° —cos10° cos50° + cos®50° is :
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@ 16sin (20°) ST—(40°) sin (80°) is equal 1o :
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If sin2(10°) sin(20°) sin (40°) sin (50°) sin(70°) = a - 1/16 sin (10°),
then is equal to_

= °< - "L'd-irllo

k&v{" o Sin(ao) Sin4o $inSo Sinto

[JEE M 2022]
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@ Value ofc053§cos?+sm -

. 31
3 Zsin =
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[JEE M 2020]
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\ =2 /
Let f:]0,2] — R be the function defined by
f() = (3 - sin(2mx)) sin (mx — ) = sin (3mx + 7).
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Two parallel chords of a circle of radius 2 are at a distance

J3 +1 apart . Ifthe chords subtend at the center , angles of

@ @ where k> 0, then the value of [£] 1s
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Let @« and f be real numbers such that —E{,B <0<acx< E. If sin(a + f) =% and
cos(a — ) = % then the greatest integer less than or equal to D
SLI](I Coso: _[_
cosﬁ L }
[JEE Adv 2022]
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The value of 2sin(12°) - sin(72°) is :
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@ a = sin 36° is a root of which of the following equation

A. 10x*-10x2-5=0 o Jlo--’lﬁ‘
B 16x% + 20x2 - 5 = 0 N

- <I
C. 16x%-20x2+5=0
D. 16x*-10x2+5=0 l6o(*= |0 - 2(<
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Prove that smﬁ sin 14 Sin g pin 14)” 3 ‘CM
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N7 The value of
T T T ) T
COS 2—2 COS ; ... COS 2? Sin ﬁ
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Illustratio

3=m§4n-w> w({ {4

‘ < 7 ARw) ¢ hn%b

b}
1= B |

Y

A
,5_1




o p—c

U




o AN
- @ If the equation cos* 8 + sin* 8 + A = 0 has real

solutions for 0, then@lies in interval

Wwl-1,-1] \
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@ The maximum value of the expression
Ix 2 ,
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iéinz 0+3sin0cosO +5cos’ ED
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Conditional Identities F¥F¥8 b

(1) sin2A+sin 2B +sin2C=4sinAsin BsinC ]A* B+ <= T‘J
(2) cos 2A+cos2B+cos2C=-1-4cosAcos Bcos C

(3) sin A+ sin B+sinC===4cosﬁcosEcosE
4) cosA+cosB+cosC=1 -*-4sin%singsinE

(5) tanA+tanB+tanC=tanAtanBtanC

Q6) tanﬁtanE-l-tangtanE-HanEtanﬁ=l
2 2 2 2 2 2
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Complimentry Angle Tolendity

y = CAO
K IO + Coslﬁ:ﬂ Yin (45-8) =
(L -6\ = =36
# alo-tan 6-1 Qin (L-0)
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ComPouND ANGLE
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Namo Kaul

Amarnath Anand Nishant Vora
hematics Mathemaobics

Vijay Tripathi Sakshi Ganotra

rristry hemistry

a

o

Mohit Bhargav Ajit Lulla




unacademy | X

Unacademy Learning App

unacademy learning app

unacademy learning app in hindi

inacadermy learning app wifi study

ademy learning

o o o o o 4 »

unacademy learning app for upsc

G I like lol ¢

gwer rtyuiop
asdf gh j k I
& z x cvbnnmg@

2123, © .

Step 2

< Q

Unacademy Learning App
! Unacademy

in-app purchases

What's new ¢
Last updated 04-Mar-2020

Revamped educator profile, now access all the Plus & Free courses,
Special Classes and activity stats of your favourite educator at one
place...

Rate this app

Tell others what you think

>

1< SRS * S A G * S A

Write a review

Developer contact
® Website
M Email

help@unacademy.com




CHANGE

IIT JEE

Learning preferences >

Plus

) Free Live Classes

8 Other Courses

& Dark mode

Language Hindi

Messages

Settings




IIT JEE subscription

& India's Best Educators

IIT JEE subscription

India's Best Educators

Q

& Interactive Live Classes

Q

Interactive Live Classes
& Structured Courses & PDFs

Q

Structured Courses & PDFs
& Live Tests & Quizzes

Q

Live Tests & Quizzes

OFFLINE

Q

Personal Coach

Q]

Study Planner

30 months 1,980/mo

+10% OFF 24 months ¥3,750/mo
L ! E +10% OFF
24 months 2,310/mo

OFF

18 months ¥4,000/mo
+10% OFF ¥
12 months 23,176/mo

g 12 months ¥4,875/mo

+10% OFF
4,620/mo
OFF

¥5,700/mo
0% OFF ¥

3 months %5,775/mo
OFF

NVLIVE x L~ INVEVELD.




Wunacademy

3.5 Lakh Test-takers | 100+ Cities | 800+ Schools
Will you make it to the top 10?

UNSAT results will be live
on November 3
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